2 ROT

7% IN-=| ?E%J\ﬂ@;’]ﬁ% o | sz ﬁruﬁaf&aﬁwaﬁaﬁﬁy _ fag -
PN FHeh R HEME P | it [ A 315352958 %3 % et | ot e
o) © v L ) i
e L. 160 16| 16 144 122 0.8
SCHRBESE 80| 16| 16 64 62 6 1.0
AW L i 40| 16 4 1 36 12 2 0.3 0.4
®lml v L i 40 4 3 3 37 21 1 0.6 0.6
£H . 80 - - 80 47 5 0.6 | 0.6
il L 80| 32 4 0 76 33 8 0 0.4 0.6
*oERIGREE |[% @ 160| 64 48 112 109 L.o| 0.9
el L 160 16 6 154 147 0 1.o| 0.9
)1l L 80| 24 2 78 49 1 0.6 0.6
& A A W@ 80 - - 80 23 0 0.3 0.3
T L 120 - - 120 67 1 0.6 0.6
> i) 175 L 120 36 8 112 101 0.9 0.7
& H 1,200 224 107| 4 1,003 793 13 18 0/ 0.7 0.7
By ml Bk 40| 12 3 37 37 .o| 0.7
IR 40| 36| 25 0 15 1 0] 0.1 | o.1
HRERE 40| 36| 28 2 12 1 0] 0.1 | o.1
= B EAHE 40| 36| 35 0 5 1 0] 0.2 | 0.2
ERINEE |mroarr 40| 36| 36 0 4 0 0] 0.0 | 0.0
BEER 40| 36| 29 0 11 1 0] 0.1 | o.1
AR 40| 36| 19 0 21 0 0l 0.0 | 0.8
AR 40| 36| 17 0 23 0 0 0.0 | 0.0
® ) AERERL 40| 36 1 0 39 19 0l 0.5 | 0.3
b Ll = e 40| 36 1 39 32 0.8 1.0
= B 360( 324 191 2 169 55 0] 0.3 0.3
T R BT 40| 20 0 40 30 0.8 0.5
A 40| 20 1 39 11 0.3] 0.8
® = B 80 40 1 19 41 0.5 0.7
IR [Hmas 40l 20 2 38 6 0.2 0.2
B e Rk 80| 40| 22 58 45 0.8 0.8
& kI it x4 120 60 8 112 86 0.8 0.9
= it 240( 120 32 208 137 0.7 0.7
% s A R il 20 12| 12 8 14 1.8 | 1.3
EN 20 12| 12 8 9 L.L1| 1o
B = it 40 24 24 16 23 1.4 1.2
B | enma |t ma 80| 40| 28 52 23 0.4 | 0.2
i E 3 o) & &t 800 548 276 2 524 279 0] 0.5 0.5
g al] emmx e al s 4] 1 9] 42 05| 0.6
& =] il & gt 2,120 824| 387 6 1,733] 1,151 13 18 0] 0.7 0.6




